CIo‘s“ing Tue: Sup. 6-7 Entry Task: Get out Blinkos graph.

Closing Wed: Sup. 8-9 1. Draw a tangent line at

g = 24 hundred Blinkos.
Supp. 7 and 8: Analysis of Cost - Estimate the slope of this line.
Recall - What does this represent?
Total Amounts
TR(q) (prlce) (quantlty) 2. Find a quantity at which the slope
TC(q) =FC+VC(q) of the tangent line is equal
-FC = fixed costs 2.75 dollars/item.

-VC(q) = "costs to make q items" _
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= cost for making next item
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Now suppose we sell Blinkos at a
price of $2.00 per Blinko.
1. Draw the TR graph
2. How many quantities should
you sell in order to maximize
profit? /"g 2/ ¥em
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Ma')v( Profit Methods Summarized

Method 1: Largest Gap
Find the largest vertical gap when
TR is above TC.

Pro = quick

Con = hard to be accurate

Method 2: Match Slopes

Find where TR and TC have the
same tangent slopes. Best way if
given TR and TC graphs!

Method 3: MR = MC
Find where it switches from
MR > MC to MR < MC
Note: MR>MC->profit increasing
MR<MC-> profit decreasinj
Pro = precise (algebra)
Con = need MR/MC formulas



Sup. 6-7 HW / Problem 2 Hints: g e \\y//’/’
Do you know how to answer these... . £ //TC B
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(c) If the items sell for $2 per item

(b) How would you estimate MC at what is the maximum profit?
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Sup 8 - Analysis of Cost
Lecture pack graph (selling hats) y,

hundreds of dollars
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Qui}:k check of understanding:
- What is TC(0)?
TC()= 6 Hubnes Dowsns
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- What is TC(0.5)?
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Analysis of Various Selling Prices
Remember, if price is a constant,
then TR is a diagonal line. Let’s
consider various prices (slopes).
- If price = $1.00/item, draw TR.
Can you break even?
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Benchmark 1: Example

Break Even Price (BEP) is the Compute BEP for the hats graph.
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Benchmark 2: Example
Shutdown Price (SDP) is the slope Compute SDP for the hats graph.

of the lowest diagonal line that Dead A T tive (DIpGaAL Live])
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